Selection

3/ 30+ 11,

Targeted ttH decays

Trigger

Lepton multiplicity
Lepton pr

Lepton 7

Th

Th PT

Th n

Charge requirements

Jet multiplicity

b tagging requirements
Missing transverse
momentum

Dilepton mass
Four-lepton mass

t — blv,t — bly,
H— WW — fvqq
t — blv, t = bqq,
H— WW — lviv
Single-, double- or triple-lepton triggers
Exactly 3 leptons
pr >25/15/15GeV pr >20/10 / 10GeV
7] < 2.5 (e) or 2.4 ()
No 1, (loose WP) > 1 1, (loose WP)
— pr > 20GeV
— In| <23
Zg:q =41 Yq=0

é,rh

t — blv,t — bly,

H— 1t — {1, +V's

>2 jets
>1 tight b-tagged jet or >2 loose b-tagged jets
No requirement if N; > 4
Lp > 45GeV '
Lp > 30GeV otherwise
mey > 12GeV * and |my — mz| > 10GeV ¥
My > 140GeV S —

Selection 4/
_ t — blv,t — blv,
Targeted ttH decays H — WW — fuly
t — blv,t — blv,
H — ZZ — {lqq or {lvv
Trigger Single-, doubl.e- or triple-lepton
triggers
Lepton multiplicity > 4 leptons
Lepton pr pr >25/15/15/10GeV
Lepton 7 7] <2.5(e)or24 (u)
Charge requirements —
Jet multiplicity >2 jets

b tagging requirements

Missing transverse
momentum

Dilepton mass

Four-lepton mass

>1 tight b-tagged jet or >2 loose b-tagged jets

myp > 12GeV * and
Mgy — mz| > 10GeV#
myy > 140GeV S

* Applied on all pairs of leptons that pass loose selection.

" If the event contains a same-flavor opposite-sign (SFOS) lepton pair and N; < 3.
t Applied to all SFOS lepton pairs.

S Applied only if the event contains 2 SFOS lepton pairs.



